ERRISHEE BEFHA I B AR A R

KIS I bl sl bl sl bl sl bl
ERZNA |5t HARR TR TR K I [iIGA et oy U PRI
et | 2 | #n [ s [ S e | ason s smmn |
Ty H O OH 4 TR
ne/l wn | e | e | e I
sk | o | mes | et | G0 | wE | e | s | RS
Bk H 1/19 1/9 1/10 1/17 1/15 1/24 1/15 /17
T = 0.02 0.02 NoD- oD, NoD- oD, NoD- oD, NoD-
7 lb—runr =0y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. 0.25 N.D.
iVl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
A NLILT VTR .
Sl (i 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT vET ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 NoD. N.D. NoD. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ 7oy 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F LTIV ERE (EDT 0.2 56 0.9 0.9 1.8 0.4 1.8 20 0.4
87 =0 —Fi (NTA) 0.07 3.1 0.12 0.17 0.26 N.D. 0.15 L1 N.D.
4—ran—3—AFNTx/)—)V . :
(N AR 0.002 N.D. N.D N.D. N.D. NLD. N.D. N.D. N.D.
w7 o= — 0.005 N.D. NoD. oD, NoD. N.D. NoD. N.D. NoD.
287 In-J vt =)L 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
287 [T =) 0.005 0.013 N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8L oty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 [oAy7ae T oy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. 0.02 N.D.
190 Jo=Fuitmr 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 [m—=Foit=y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
6 [O 7= A5 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o oo o —ou 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—Fr—==n 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 [m—F—T==r 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
39 lp—r—=—t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |12 SAF T T H L 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_UAF /LT 7 AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1 4_SAF LT 7 AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1 5-_UAF/L T T AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1 6 UAF/LT 7 AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
198 |1 7—SAFIT T HAL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 8—_UAF/LT T HAL L 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—_UAF T T AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 [2. 6 SAFILT T AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
198 |2, 7—SAF T T AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
v e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %gi/f;;i}ﬂ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D. ND. N.D. N.D. N.D. N.D. N.D.
U8 | A—F HEFaT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
48 [Fo A—F AER a7 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—>mnr=v> 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—osmnr=y> 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>aar=y> 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI .
185 | (o S 0.1 N.D. N.D N.D. N.D N.D. N.D. N.D. N.D.
02 L3 ornn o 7a, < —n 0.02 N.D. NoD. NoD. NoD. NoD. NoD. 0.03 NoD.
120 35}13?[%]7%» &ATNT =) 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
121 52 Y7RE—3—ymnrEs 0.01 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
133 | iAo 0.1 NoD. NoD. N.D. NoD. N.D. NoD. oD, NoD.
169 |1, 2, 3 F)ynn~o by 0.01 N.D. N.D. N.D. N.D. N.D. N.D. 0.04 N.D.
167 |2 & 5 M7mRET =% R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2, 4, 5—T)
193 [=ro~ oy 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
200 [N— T —1—F 7T o7 0.05 N.D. N.D. N.D. N.D. N N.D. N.D. N.D.
I N—T =2 T TF AT 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T A 2t 351 05 0.9 N.D. N.D. N.D. N.D. N.D. N.D. N.D.
239 [~V Znnr=r 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B S FT T L 0.087 0.128 N.D. N.D. N.D. N.D. 0,083 N.D. N.D.
AT
283 | (2, 4, 5T —1, 3, 5— 1V 0.02 0.18 0.14 0.05 N.D. 0.06 N.D. 0.26 0.04
TV)
E)H )= NT | 2-T s
286 | /—1] 0.17 0.3 N.D. N.D. N.D. N.D. N.D. N.D. N.D.
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ERRISHEE BEFHA I B AR A R

KIS I bl bapAl bl bapAl bl baAl bl
ERCNA 7N T U B E R TFHER FORUHL | #hR)IR | BB LR
e
e | e | | mion | we | BE L | aan | s [ o
&5 HOH 4 TR
wg/L
4, )G G e A VR | REBT | TRE | ERRE | WY EE
Bk H 1/18 1/10 1/15 1/12 1/23 1/16 1/19 /17
T |7 =0 0.02 0.04 NoD. 0.02 0.10 N NoD- 0.03 0:05
7 lb—runr =0 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. NoD.
iVl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
A NLILT VTR .
Tl (A S 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. NoD. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ 7oy 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F Lo U7V NERE (EDT 0.2 1.7 23 26 9.7 29 31 24 4.1
87 =0 =i (NTA) 0.07 0.37 13 1.8 13 3.8 2.6 25 0.93
4—ran—3—AFNTx/)—)V ; : :
(N AR 0.002 N.D. N.D. NLD. N.D. NLD. N.D. N.D. N.D.
B o= 0.005 NoD. NoD. NoD. NoD. N.D. NoD. N.D. NoD.
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
287 [T =) 0.005 N.D. N.D. 0.018 N.D. 0.013 N.D. N.D. N.D.
8L vty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 [oAy7oe T 7oy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=Frairoe 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
i B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[ B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, =—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, s—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 7—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;;ﬁﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 |For % FAERa) 7Ly 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—ornnr=uv 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI . .
185 | (o S 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
[ e e e 0.02 0.22 NoD. N.D. NoD. N.D. NoD. N.D. N.D.
120 3'&6[13;[%]7%» EATNT =) 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
121 52 Y7RE—g—ymarEs 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 NoD. NoD. NoD. NoD. N.D. NoD. N.D. N.D.
169 |1, 2, 3—Zoo~ By 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
167 |2 & B N7mRET = % R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2, 4, 5—T)
193 |=ra< oy 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
0 IN-— T 1T T T AT 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
L IN— Tl 2T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. N.D. 0.6 1.2 N.D. N.D.
239 [~% ) anT o 0.02 N.D. N.D. N.D. N.D. N.D. N N.D. N.D.
Bl T T 0.087 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.101
AT
283 |(2, 4, 5 N7/ —1,3, 5k 0.02 0.04 0.20 0.23 0.34 0.28 0.21 0.17 0.30
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 N.D. N.D. N.D. N.D. N.D. 0.45 N.D. N.D.
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KIS I bl bapAl bl bapAl bl baAl bl
ERZA Pl FEH IR ITENLY [INE-37Y R gl FR. U ] R pgsi)o
e | 2 | R | s [ mson [ s | e %@" sol | o
&5 HOH 4 TR
ne/l ol
Hims | ZVFE | ©RE G | 280G | )G G P =
Bk H 1/16 1/17 2/8 2/1 1/10 1/10 1/29 2/14
T |7 =0 0.02 0.06 0.11 0.05 NoD. 0.03 0.03 oD, 0.17
7 lb—runr =0 0.02 N.D. 0.05 N.D. N.D. N.D. NoD. N.D. N.D.
iVl B 0.02 N.D. N.D. N.D. 0.05 N.D. N.D. N.D. N.D.
A NLILT VTR .
Sl (e 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ 7oy 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F Lo U7V NERE (EDT 0.2 9.1 30 3.9 7.0 12 14 2709 32
87 |= e —Fa% (NTA) 0.07 0.92 15 0.62 1.1 0.35 18 18 12
4—ran—3—AFNTx/)—)V ; . .
(N AR 0.002 N.D. N.D. NLD. N.D. N.D. N.D. N.D. N.D.
B o= 0.005 NoD. NoD. NoD. NoD. oD, NoD. N.D. NoD.
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
287 [T =) 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Ol B CETD) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 [oAy7oe T 7oy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=rait=r 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
i B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.05
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.07
128 |1, =—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, s—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 7—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o~ T A 7= 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.02
141 %g{f;;ﬁﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.11
Aoty 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. 0.04
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 [Fov A S AERRT THL L 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—ornnr=uv 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. 0.32
B—FT7FNTI ! .
185 | (o S 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
i ornn o 7o, I—n 0.02 0.18 0.10 NoD. NoD. N.D. NoD. N.D. 1.0
120 3‘»6[[;[%]7%» EATNT =) 0.05 NLD. N.D. N.D. 0.09 N.D. N.D. NLD. 0.26
121 52 Y7RE—g—ymarEs 0.01 ND. N.D. NLD. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 NoD. NoD. NoD. NoD. N.D. NoD. N.D. NoD.
169 |1, 2, 3- Fynn~o by 0.01 N.D. 0.16 N.D. N.D. N.D. N.D. N.D. N.D.
167 |2 & B N7mRET = % R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2, 4, 5—T)
193 [=ra~ By 0.01 ND. 0.03 ND. N.D. N.D. N.D. N.D. 0.30
0 IN-— T 1T T T AT 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
L IN— Tl 2T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.5
239 [~% ) anT o 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Bl B e e 0.087 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.089
AT
283 (2, 4, 5—M7I/—1, 3, 5—1) 0.02 0.12 0.66 0.09 0.07 0.10 0.13 0.02 0.22
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 0.23 N.D. NLD. N.D. N.D. N.D. 0.27 0.88
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ERRISHEE BEFHA I B AR A R

KIS I bl bapAl bl bapAl bl baAl bl
ERGEIA ¥ SR TR I HARIF KBRIF Lo IR ZRRR | Fodkl R
ey | 2 | e | = [N e | e | smon | s |
&5 HOH 4 TR
wg/L
4, 454 ZERE TERTAE | ISR | BT K I H A EEHE
sk | 20 1/9 2/6 1/10 2/13 1/10 1/16 1/9
T |7 =0 0.02 039 NoD. 0.02 NoD. 0.076 NoD- oD, 0-08
2 Ip a7 =0 0.02 0.07 0.02 N.D. N.D. N.D. N.D. 0.03 0.10
iVl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.04
A NLILT VTR .
Tl (A S 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. NoD. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ 7oy 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. 0.041 N.D. N.D. N.D.
43 |=F Lo U7V NERE (EDT 0.2 478 8.7 7.1 20 38 1.6 6.4 28
87 =0 =i (NTA) 0.07 7.8 0.78 2.2 2.7 47 N.D. 2.9 3.0
4—ran—3—AFNTx/)—)V ; . .
(N AR 0.002 N.D. N.D. NLD. N.D. N.D. N.D. N.D. N.D.
B o= 0.005 0.014 NoD. N.D. NoD. N.D. NoD. N.D. 0.02
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. NoD.
287 [T =) 0.005 0.016 N.D. N.D. N.D. 0.011 N.D. N.D. 0.005
Ol B CETD) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 [oAy7oe T 7oy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=rait=r 0.00 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
i B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—SAF AT T AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—CAF LTI FL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
I NS 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 8—CAF AT T AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF AT T FL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—CAF AT T ZL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, T—SAFNT T FL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o~ T A 7= 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;'ﬁj}lﬁ Eddd 0.02 0.02 N.D. N.D. N.D. N.D. N.D. ND. N
Aoty 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 [Fov A S AERRT THL L 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 4—snor =iz 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 56—/ =02 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, 4—>snar =0 0.1 0.16 N.D 0.09 N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI ! .
185 | (o S 0.1 NLD. N.D NLD. N.D. N.D. N.D. N.D. N.D.
[ e e e 0.02 0.07 NoD. NoD. N.D. 0.06 NoD. oD, NoD.
120 3'&6[13;[%]7%» EATNT =) 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
121 52 Y7RE—g—ymarEs 0.01 N.D. N.D. NLD. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 NoD. NoD. N.D. NoD. N.D. NoD. N.D. NoD.
169 |1, 2, 3—Zoo~ By 0.01 1.9 N.D. N.D. N.D. N.D. N.D. N.D. N.D.
167 |2 & B N7mRET = % R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2, 4, 5—T)
THl 0.01 ND. N.D. NoD. N.D. NoD. N.D. N.D. N.D.
0 IN-— T 1T T T AT 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
L IN— Tl 2T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
926 |7 /AL A 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
297 [ AL At 351 05 1.7 N.D. N.D. N.D. 2.3 N.D. N.D. N.D.
239 [~% ) anT o 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Bl B e e 0.087 0.106 N.D. N.D. N.D. 0.093 N.D. N.D. N.D.
AT
283 (2, 4, 5—M7I/—1, 3, 5—1) 0.02 0.29 0.24 0.20 0.15 0.24 0.04 0.06 0.19
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 0.46 N.D. NLD. N.D. 0.51 N.D. NLD. N.D.
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ERRISHEE BEFHA I B AR A R

KIS I bl bapAl bl bapAl bl baAl bl
ERGIA =YL AR fi] Ly U I IR [iif=)'>) Fis= )R IR
e | A | Tron [ | mmon | omion | s | s | s |REAS
&5 HOH 4 TR
ne/b A
Mg | TG IEJAR ARG | MEOESHE | E-C4 HTAS A 51 "
i | 110 1/10 2/6 1/23 1/10 1/31 1/22 2/1
T |7 =0 0.02 NoD. NoD. oD, 0.10 N 0-06 oD, NoD-
2 Ip a7 =0 0.02 N.D. N.D. N.D. 0.03 N.D. N.D. N.D. N.D.
iVl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
A NLILT VTR . I
Sl (e 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. ND. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ 7oy 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F Lo U7V NERE (EDT 0.2 1.0 2.3 15 34 0.2 6.1 12 1.9
87 |= e —Fa% (NTA) 0.07 0.09 0.66 3.5 8.5 N.D. 5.2 1.6 0.44
4—ran—3—AFNTx/)—)V ; : :
(N AR 0.002 N.D. N.D NLD. N.D. N.D. N.D. N.D. N.D.
B o= 0.005 NoD. NoD. NoD. NoD. N.D. NoD. N.D. N.D.
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
287 [T =) 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8L vty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 |oqv7ne sy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=rait=r 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
i B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[ B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, =—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, s—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 7—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;;ﬁﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 |For % FAERa) 7Ly 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—ornnr=uv 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI . .
185 | (o S 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[ e e e 0.02 NoD. NoD. N.D. NoD. N.D. NoD. N.D. NoD.
120 35}13?[{]7%» &ATFNT =) 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
121 52 Y7RE—g—ymarEs 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 NoD. NoD. NoD. NoD. N.D. N.D. N.D. N.D.
169 |1, 2, 3- Fynn~o by 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
167 |2 4 S M7ERT = XU Rk 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2,4, 5-T)
193 |=ra< oy 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
0 IN-— T 1T T T AT 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
L IN— Tl 2T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. 0.5 N.D. 0.6 0.7 N.D.
239 [~% ) anT o 0.02 N.D. N.D. N.D. N N.D. N.D. N.D. N.D.
Bl T T 0.087 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
AT
283 |(2, 4, 571, 3, 5— 1Y 0.02 0.06 N.D. 0.14 0.22 N.D. 0.19 0.10 0.05
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 N.D. N.D. N.D. 0.68 N.D. 0.23 N.D. N.D.
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ERRISHEE BEFHA I B AR A R

KIS I bl bapAl bl bapAl bl baAl bl
ERGZA W=l e it Uk P I Rl I AEA I AEA UL N BT YR
B K4 )N AR E)1] FEI1 FRJI Al IKAE 1| NI KyE)1
&5 HOH 4 TR
nel Mo PEARIERR
Mg | ARG el EHE AR g " kG PEEKE | REAR | MRAERS
kA 2/7 1/19 1/4 1/18 1/23 1/19 2/13 1/29
T |7 =0 0.02 NoD. 0.05 0.03 NoD. 0.03 T4 N NoD.
2 Ip a7 =0 0.02 N.D. N.D. N.D. N.D. 0.05 NoD. N.D. N.D.
iVl B 0.02 N.D. N.D. 0.04 N.D. N.D. N.D. N.D. N.D.
A NLILT VTR . I
Sl (e 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. ND. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ 7oy 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F Lo U7V NERE (EDT 0.2 6.9 6.4 14 13 4.6 9.3 2.6 1.4
87 |= e —Fa% (NTA) 0.07 1.2 1.4 0.59 2.1 1.2 1.1 0.37 0.12
4—ran—3—AFNTx/)—)V ; : :
(N AR 0.002 N.D. N.D. NLD. N.D. NLD. N.D. N.D. N.D.
B o= 0.005 NoD. NoD. NoD. NoD. oD 0.071 N.D. NoD.
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. NoD. N.D. N.D.
287 [T =) 0.005 N.D. N.D. N.D. N.D. N.D. 0.20 N.D. N.D.
8L vty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 |oqv7ne sy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=rait=r 0.02 N.D. N.D. N.D. N.D. 0.02 N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
i B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[ B 0.02 N.D. N.D. N.D. N.D. N.D. 0.43 N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. 0.03 N.D. N.D.
128 |1, =—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, s—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 7—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;;ﬁﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 |For % FAERa) 7Ly 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—ornnr=uv 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D N.D. N.D. 0.68 N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI . .
185 | (o S 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
[ e e e 0.02 N.D. N.D. N.D. NoD. N.D. 29 oD, N.D.
120 3'&6[13;[%]7%» EATNT =) 0.05 N.D. N.D. N.D. N.D. N.D. 0.10 N.D. N.D.
121 52 Y7RE—g—ymarEs 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 NoD. NoD. N.D. NoD. N.D. NoD. N.D. N.D.
169 |1, 2, 3- Fynn~o by 0.01 N.D. N.D. N.D. N.D. 0.11 N.D. N.D. N.D.
167 |2 & B N7mRET = % R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2,4, 5-T)
193 |=ra< oy 0.01 N.D. N.D. N.D. N.D. N.D. 0.42 N.D. N.D.
0 IN-— T 1T T T AT 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
L IN— Tl 2T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. 1.3 N.D. N.D. N.D. N.D.
239 [~% ) anT o 0.02 N.D. N.D. N.D. N N.D. N.D. N.D. N.D.
Bl T T 0.087 N.D. N.D. N.D. N.D. N.D. 0.447 N.D. N.D.
AT
283 | (2, 4, 573/ —1, 3, 5— 1V 0.02 0.41 0.08 0.11 0.09 0.25 0.71 0.30 0.13
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 N.D. N.D. N.D. N.D. 0.19 1.8 N.D. N.D.

[ /)—n 73]
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TERRISHEE BT IE [ S5 s
AR BEVE B | R THER TFHER B | ERSR | fmER TFHER
F L K4 KB Ea)ll FIIgR FEE |EEM ()| mhE | N B
&5 HOH 4 TR
)2 g/L Ay - oy N A EE
e | FHREERGEE [ EAkGE [ FEE | Emh . A5 IRTE
Rk AN 0 ok | e | (o) | R ST
Bk H 1/15 1/24 1/15 1/11 1/29 2/5 1/15 1/10
T |7 =0 0.02 NoD. 0.12 0.03 0.01 N NoD- oD, NoD-
7 lb—runr =0 0.02 N.D. N.D. N.D. N.D. 0.03 N.D. N.D. N.D.
iVl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
A NLILT VTR .
Sl (e 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. ND. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ 7oy 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F LTIV UERE (EDT 0.2 0.4 6.8 3.6 5.0 0.4 N.D. 2.7 4.5
87 |= e —Fa% (NTA) 0.07 0.09 2.2 0.46 0.74 N.D. N.D. 0.26 1.4
4—rnana—3—AFNTx/)—) ; :
(N AR 0.002 N.D. N.D. NLD. N.D. NLD. N.D. N.D. N.D.
B o= 0.005 NoD. NoD. NoD. NoD. oD NoD. oD NoD.
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
287 [T =) 0.005 N.D. N.D. N.D. N.D. 0.014 N.D. N.D. N.D.
8L vty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 [oAy7oe T 7oy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=rait=r 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
i B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[ B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5-_CAFAT TAL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6-CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|1, 7S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 8-S AFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3_SAFAT TALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—CAFAT TAL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, T—SAFAT TALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;;ﬁﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D ND. N.D. N.D. N.D. N.D. N.D.
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 |For % FAERa) 7Ly 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—ornnr=uv 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI .
185 | (o S 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
[ e e e 0.02 NoD. N.D. N.D. N.D. N.D. NoD. N.D. N.D.
120 3‘»6[[;[%]7%» EATNT =) 0.05 N 0.11 NLD. N.D. N.D. N.D. N.D. 0.09
121 52 Y7RE—g—ymarEs 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 NoD. NoD. N.D. NoD. N.D. NoD. N.D. N.D.
169 |1, 2, 3- Fynn~o by 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
167 |2 & B N7mRET = % R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2, 4, 5—T)
193 |=ra< oy 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
0 IN—T=o 1T TFA T 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
I N—T =2 T TF T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
239 [~y rnnr=v 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Bl T T 0.087 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
AT
283 | (2, 4, 573/ —1, 3, 5— 1V 0.02 0.06 0.22 10.33 0.20 0.23 0.08 0.06 0.15
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 N.D. 0.32 N.D. N.D. N.D. N.D. N.D. N.D.
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ERRISHEE BEFHA I B AR A R

ALKy Wk i35 bz i35 iz Wik bz Wik
EREI A I ionE SR | AR | e R B HARIF KBRIF SefEE IR
iy | A% | s | o [ e | FEOW L o | e | s | 1)
&5 HOH 4 TR e
wg/L AKIY ) N
wis | stes | oss | s | mroin | BERE ] sy | cs | MR
HisE1
Bk H 2/1 2/1 1/10 2/2 2/5 1/9 1/10 1/11
o =0 0.02 NoD. NoD. NoD- NoD. 0.01 NoD- NoD. 0.03
2 Ip a7 =0 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. NoD.
iVl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
A NLILT VTR .
Tl (A S 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ex 700 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F Lo U7V NERE (EDT 0.2 9.8 5.7 4.6 N.D. 0.5 0.9 7.4 3.8
87 |= e —Fa% (NTA) 0.07 2.1 2.7 0.62 N.D. N.D. 0.39 2.3 0.72
4—rnana—3—AFNTx/)—) ; :
(N AR 0.002 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
B o= 0.005 NoD. NoD. NoD. 0.009 oD, NoD. N.D. N.D.
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
287 [T =) 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8L vty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 |oqv7ne sy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=Frairoe 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
i B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[ B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, =—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, s—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 7—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;;ﬁﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D N.D. N.D. N.D. N N.D. N.D.
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 |For % FAERa) 7Ly 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—ornnr=uv 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI .
185 | (o S 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
[ e e e 0.02 N.D. NoD. NoD. 0.09 N.D. NoD. N.D. 0.13
120 35}13?[%]7%» EATNT =) 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
121 52 Y7RE—g—ymarEs 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 N.D. N.D. NoD. NoD. N.D. N.D. N.D. N.D.
169 |1, 2, 3- Fynn~o by 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
167 |2 & B N7mRET = % R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2,4, 5-T)
193 |=ra< oy 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
0 IN-— T 1T T T AT 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
L IN— Tl 2T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
239 [~% ) anT o 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Bl T T 0.087 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
AT
283 | (2, 4, 573/ —1, 3, 5— 1V 0.02 0.21 0.19 0.06 0.10 0.09 0.10 0.25 0.13
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
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ERRISHEE BEFHA I B AR A R

Sy i35 bz i35 iz Wik ik iRk
ERIINA AL AR S U =y BRI i ] Y P I EIR R
ST R VA 4 = He IRR N ¥ LI
i | 250 | TR Grop| S | BRAD T FEE ) s | o
.
%5 ®OH 4 FIR e
e/l I P HER |
s | | g | SR | so | |06 | G | e
b a)
Bk H 1/19 2/1 1/18 1/19 2/6 1/10 1/19 1/11
o =0 0.02 NoD. NoD. N NoD- 0.05 0.16 oD, NoD-
2 Ip a7 =0 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
4 | 7=— 7 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
A NLILT VTR .
Tl (A S 0.2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
o8 |27 2/ AT =T AR ] 2 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[MEK]
123 [~ A 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
192 |=rar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
208 [ex 700 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
2 [T UL —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F Lo U7V NERE (EDT 0.2 2.4 1.6 2.0 4.0 2.3 6.1 1.1 0.4
87 |= e —Fa% (NTA) 0.07 N.D. 1.1 0.85 N.D. 0.35 225 N.D. 0.08
4—ran—3—AFNTx/)—)V ; . .
(N AR 0.002 N.D. N.D. NLD. N.D. N.D. N.D. N.D. N.D.
B o= 0.005 NoD. NoD. oD, NoD. N.D. NoD. N.D. N.D.
287 In-J it =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
287 [T =) 0.005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8L vty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
89 |oqv7ne sy 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=rait=r 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
190 Jm—=roreo 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
116 o 7=t Ao 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
[ B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—F—=nt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
139 |m—F—==t 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
B9 p—F—=mrt 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
8|2 CAFAT ALY 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3-_CAFAT TAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
28|14 S AFATIAL Y 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, =—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, s—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 7—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;;ﬁﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
18 [ A—FHEFag 7oLy 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
148 |For % FAERa) 7Ly 0.02 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, a—ornnr=uv 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T T 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI ! .
185 | (o S 0.1 N.D. N.D N.D. N.D. N.D. N.D. N.D. N.D.
[ e e e 0.02 N.D. N.D. N.D. 0.13 N.D. 0.12 N.D. NoD.
120 3'&6[13;[%]7%» EATNT =) 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
121 52 Y7RE—g—ymarEs 0.01 N.D. N.D. NLD. N.D. N.D. N.D. N.D. N.D.
133 |t AT 0.1 NoD. NoD. NoD. NoD. N.D. N.D. N.D. N.D.
169 |1, 2, 3- Fynn~o by 0.01 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
167 |2 & B N7mRET = % R 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
(2,4, 5-T)
193 |=ra< oy 0.01 N.D. N.D. N.D. N.D. N.D. 0.10 N.D. N.D.
0 IN-— T 1T T T AT 0.05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
L IN— Tl 2T T 0.1 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
239 [~% ) anT o 0.02 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
Bl T T 0.087 N.D. N.D. N.D. N.D. N.D. N.D. N N.D.
AT
283 |(2, 4, 571, 3, 5— 1Y 0.02 0.06 0.04 0.13 0.035 0.04 0.15 0.04 N.D.
T)
E)H )= NT I 2-T s
286 | /—1] 0.17 NLD. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
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TERRISHEE BT IE [ S5 s
RISy HURK R K HiFK R K HiFK HiFK
EREIA I ionE [INE-38 REFR KBRFF NG TR B
N FRAI 212-0850-
gy | A ML HF Kl 000100
&5 HOH 4 TR ] -
SR R L I i E T BT ol
rﬁ; R | RMRET A0 [ BeERT LT
Bk H 1/31 2/14 1/19 1/30 1/15 1/30
o =0 0.02 0.02 NI NoD. NoD. 0.94 NoD.
2 Ip a7 =0 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
4 | 7=— 7 0.02 0.10 0.03 N.D. N.D. N.D. N.D.
. A NLILT VTR .
Tl (A S 0.2 N.D. N.D. N.D. N.D. N.D. N.D.
218 KZM;I?]//U%”I%V”\/] 2 N.D. N.D. N.D. N.D. N.D. N.D.
123 o~ AR 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D.
192 |=Frar =~ 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D.
208 [ex 700 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D.
214 [T= LU —F 0.01~0.05 N.D. N.D. N.D. N.D. N.D. N.D.
43 |=F LTIV ERE (EDT 0.2 11 2.7 1.2 21 2.3 2.2
87 |= e —Fa% (NTA) 0.07 0.08 N.D N.D. N.D. N.D. 0.62
4—ran—3—AFNTx/)—)V ; : :
(Cl SRS 0.002 N.D. N.D N.D. N.D. N.D. N.D.
287 lo =0 0.005 N.D. N.D. N.D. N.D. N.D. N.D.
287 In-J vt =)0 0.005 N.D. N.D. N.D. N.D. N.D. N.D.
287 ooy = L 0.005 N.D. N.D. N.D. N.D. N.D. N.D.
8L vty (Do) 0.025 N.D. N.D. N.D. N.D. N.D. N.D.
280 [A 70 0.025 N.D. N.D. N.D. N.D. N.D. N.D.
89 |oqry7me sy 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
190 Jo=Frairoe 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
190 fm—=Fat=y 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
116 o 7=t Ao 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
[ B 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
139 Jo—r—== 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
139 fm—F—V == 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
139 [p—r—V==v 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
28 |L, e—C AT T AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 3—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |, &S AT LT ALy 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 5—S AT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, 6—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, =—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |1, s—SAF LT ALy 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 3—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 6—CAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
128 |2, 7—SAF LT AL 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
Il e 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
Nl B 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
141 %g{f;;ﬁ;ﬁ Eddd 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
Tl B 0.02 N.D. N.D N.D. N.D. N.D. N.D.
148 | A—FHEFuT AL 0.02 N.D. N.D N.D. N.D. N.D. N.D.
148 [Fo A—F AERa) T4 0.02 N.D. N.D N.D. N.D. N.D. N.D.
97 |2, a—ornnr=u> 0.05 N.D. N.D. N.D. N.D. N.D. N.D.
97 |2, 5—ornar =iy 0.05 N.D. N.D. N.D. N.D. N.D. N.D.
97 I3, a—>rnar =y 0.1 N.D. N.D. N.D. N.D. N.D. N.D.
181 Ja — T 7T 7 0.1 N.D. N.D. N.D. N.D. N.D. N.D.
B—FT7FNTI . .
185 | (oS0 e 0.1 N.D. N.D. N.D. N.D. N.D. N.D.
2 RS e T 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
120 35}13?[%]7%» EATNT =) 0.05 N.D. N.D. N.D. N.D. N.D. N.D.
121 52 v7RE—3—ran7as 0.01 N.D. N.D. N.D. N.D. N.D. N.D.
133 |SLAT v 0.1 N.D. N.D. N.D. N.D. N.D. N.D.
169 |1, 2, 3 Fynn~o by 0.01 N.D. N.D. N.D. N.D. N.D. N.D.
12, 4, 5—Nroo7 =% g
L A 0.05 N.D. N.D. N.D. N.D. N.D. N.D.
193 |=ra< oy 0.01 N.D. 0.01 N.D. N.D. N.D. N.D.
0 IN—T=o 1T TFA T 0.05 N.D. N.D. N.D. N.D. N.D. N.D.
I N—T =2 T TF T 0.1 N.D. N.D. N.D. N.D. N.D. N.D.
226 |7 AL A k- 260 5 N.D. N.D. N.D. N.D. N.D. N.D.
227 [T AL 2t k351 05 N.D. N.D. N.D. N.D. N.D. N.D.
239 [~ 7an7=r 0.02 N.D. N.D. N.D. N.D. N.D. N.D.
Tl B e 0.087 0.09 N.D. N.D. N.D. N.D. 0.087
AT
283 | (2, 4, 573/ —1, 3, 5— 1V 0.02 0.11 N.D. 0.03 0.04 0.20 0.08
T)
T/ K )= )VT2-T
286 | —1] 0.17 N.D. N.D. N.D. N.D. N.D. N.D.
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